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Choose any two digit number, add together both digits 860 660 46@ 2622 6 m’
and then subtract the total from your original number.* 85C 650 45@ 252 54

84 B4 441 242 4R
When you have the final number look it up on the chart 83X 63©@ 43% 234 3@
and find the relevant symbol. Concentrate on the symbol 82V 62z 42C 229¢ 2@
and when you have it clearly in your mind click on the 81® B61%® 41C 21% 10

crystal ball and it will show you the symbol you are 80 © BD‘d 40 %= 2052 0R

thinking of...
* For example if you chose 23; 243 = 5. 23 minus 5 will give you your answer. created by Andy Naughton
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Choose any two digit number, add together both digits
and then subtract the total from your original number.* 85C 650 45@ 254
840 644 4401 242 4R
When you have the final number look it up on the chart 83X 63© 43 % 234 3@
and find the relevant symbol. Concentrate on the symbol 82Yp 622 42C 22F% 2w
and when you have it clearly in your mind click on the 81©® 61%® 41C 2198 10
crystal ball and it will show you the symbol you are
thinking of... 80©@ 60%Y 40% 204 OR
* For example if you chose 23: 2+3= 5. 23 minus 5 will give you your answer. created by Andy Naughton
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